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QUIZ MASTER

MATH401(38 TO 40)

100% correct solution.

For more information you can visit my channel and for
any type of help related to CS619 you can contact me.

YOUTUBE CHANNEL:
https://www.youtube.com/channel /UCINsSFwDiB62SValCcPDZbRQ /playlists
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MTH401:Quiz No_ 2 Quiz Start Time: 11:37 AM. 28 Augu

Question # 2 of 10 ( Start time: 11:37:57 AM. 28 August 2020 ) Total

The equation form of non - homogeneous system of differential equationis

I

Select the correct option ® Reload Math Equ

X'= 2z +4y+e 4
X' =3z — 4y + 11t

X'= 20 4y t+e — 4t

N
<
O §0 X' =3¢ + 4y + 11t
&

X' =2z +4y+e — 4
X' =3z — 4y + 11¢

X' =2 4y — e — &
o X' =3z — 4y — 11¢
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Question # 3 of 10 ( Start time: 11:38:33 AM. 28 August 2020 )

o L 1
A:{z ii]and3={3 5 ﬁ‘
8 7

5

then the order of matrix

Select the correct option
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~
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&

J
§b\ 2x3 (L
N

& r N

MNone of them
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Question # 4 of 10 ( Start time: 11:35:09 AM. 28 August 2020 ) Total b

Vectors ( T]) and ( [i) are linearly — — — ——.
R —
~,

.y
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F
b d
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MTH401:Quiz No. 2 Quiz Start Time: 1

Question # 5 of 10 ( Start time: 11:39:43 AM. 28 August 2020 )

The multiplicative identity of & 3=3 matrix is

Select the comrect option u
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Question # 6 of 10 ( Start time: 11:40:19 AM. 28 August 2020 )

A = \left] \matrix
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2: 1 ifill ler 5
2: ‘;r;zmlalt?irx right]\, VLB = Veft] {1004 - 1} inght] L sol L AE = 5
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Question # 7 of 10 ( Start time: 11:41:07 AM, 28 August 2020 ) Total M
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dy
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I T y+ e
d

3z a4y 11t
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2
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N

Select the correct option ® Reload Math Equa
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MTH401:Quiz No. 2 Quiz Start Time: 17

Question # 8 of 10 ( Start time: 11:42:14 AM. 28 August 2020 )
a b
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MTH401:Quiz No. 2 Quiz Start Time: 11:37 AM, 28 August 20:
Question # 9 of 10 ( Start ime: 11:42:53 AM, 28 August 2020 ) Total Marks
1. . . . 1 0 .
IfK = 1 is an eigenvector of the given matrix A = 0 1 then AK is

Select the correct option ® Reload Math Equation
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MTH401:Quiz No. 2 Quiz Start Time: 11:37 AM. 2

Question # 10 of 10 ( Start time: 11:43:31 AM. 28 August 2020 )
T YT I

E

X'= -3z +4y — 9z
X' =6z —y
X =10z — 4y + 3=z

Select the correct option

O

N
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MTH401:Quiz No. 2 Quiz Start Time: 11:52 £

Question # 1 of 10 ( Start time: 11:52:00 AM. 28 August 2020 )

The multiplicative identity of a 3=3 matrix is

Select the comrect option
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MTH401:Quiz No. 2 Quiz Start Time:

Question # 2 of 10 { Start time: 11:52:41 AM. 28 August 2020 )

This equation
det(A — AI)

is known as of the matrix A.

Select the comect option

Linear equation
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MTH401:Quiz No. 2 Quiz Start Time: 11:52 AM, 28 August 2|

Question # 5 of 10 ( Start time: 11:54:01 AM, 28 August 2020 ) Total Mark

The equation form of non - homogeneous system of differential equationis

-2 4 T 1 —4
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3 —4 Y 0 11
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MTH401:Quiz No. 2 Quiz Start T

Question # & of 10 { Start time: 11:56:28 AM. 28 August 2020 )

The eigenvalues of matrix

Select the comrect option
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MTH401:Quiz No. 2

Question # 10 of 10 { Start time: 11:58:03 AM, 28 August 2020 )

Quiz Start Time: 11:52.

If
53‘)
X, =
1 (_Ezc

Select the correct option %
S
O S ( __ZZ 2 )
o & (%)
o (=)
@) ( _22: ;i )

PPPPLLLLLLLLLL LSS LSS LSS LSS LSS LSS LSS LS LSS LLLS PSSP PP

\\\\\\\\\\N\\\\N\‘\‘\‘\‘\‘\‘\\‘\‘\\‘\‘\\\\\\\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘V>

T T e T T T T T e e e T T2 T T T T T T T S T Ve Ve S 20 20 Y20 M Vo W e 2 2 e R P P % %0 % B R 9



P A A AL AL AT A A A A e e e el el el o all el e N ol ol ol ol o o o o o o o o o o ol o o e o e

MTH401:Quiz No_ 2

Question # 10 of 10 { Start time: 11:58-03 AM. 28 August 2020 )
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Question # 1 of 10 ( Start time: 06:27-05 PM. 28 August 2020 )
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The eigenvalues of matrix
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MTH401:Quiz No. 2

Question # 2 of 10 { Start time: 06:27:30 PM. 28 August 2020 )
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Cuiz Start Time:

Question # 3 of 10 { Start time: 06:27:54 PM. 28 August 2020 )
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The equation form of non - homogeneous system of differential equati
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2: MTH401:Quiz No. 2 Quiz Start Time: 5
S P4
2: Question # 5 of 10 ( Start time: 06:28:39 PM. 28 August 2020 ) 5
2 The matrix form of non - homogeneous system of differential equatic 5
S X'= -3z +4y — 9z e
2 X' =6z —vy 5
S : P4
S Select the comect option e
S b : P4
S 4
[ -3 -0 4] [z]
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3 2
g — s 3 4 9] [z] 5
A\ b . 1
S X'=|6 -1 0]y 4
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S o $ -3 4 z][-9 P
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MTH401:Quiz No. 2 Quiz Start Time:

Question # 6 of 10 { Start time: 06:25:24 PM, 28 August 2020 )

A =eft] \matrix
1 kil eor
2 \hill er

\endmatrix \right]l, LB = \left] \matrix 1 1hfill \or - 2 \hfill Yor \endmatrix \right]\\.s0\.A + B = 5%

Select the correct option

S

Yefi] imatrx
2 \hfill \er

~ny
o §0 & \hfill \er
“ Yendmatrix ‘right]
<
&

eft] imatrix

B \hfi
. 2 ill ver
[ ]
= 0 il ter
Q‘ ‘endmatriz righf]L\.
—
Yefi] \matrix

o 0 hiill \er

0 Whfill Yer
\endmatrix ‘\right]

Mot possible.
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MTH401:Quiz No. 2 Quiz Start Time

Question # 8 of 10 ( Start time: 06:37:21 PM, 28 August 2020 )

a b u v
Let A= and B = then A + B s
Select the comect option
~ -
<
au by
O
L L
p— [a+u b+ol
- \ '(V A4 B
[a+u b+z]
O
A+ B =
au  br
A+ B=
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MTH401:Quiz No. 2 Quiz Start Time: 06:2

Question # 9 of 10 ( Start time: 06:32:27 PM. 28 August 2020 )

If A, Band C are three matrices of order [A] . [B|,  and[C]  then A(BC)

Select the cormrect option m
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m X 1M
© %
m ¥ p
© N
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m X n
F
e
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2 Question # 10 of 10 { Start time: 06:32:53 PM, 28 August 2020 ) 5
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2 . which of the following must always be true? 5
S 4
z Select the comect option 5
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S ~ P4
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: S 5
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MTH401:Quiz No. 2 Quiz Start Time: 06:58 PM. 2

Question # 1 of 10 ( Start time: 06:58:44 PM. 28 August 2020 )

The non - trivial solution of the system of differential equation exist only when

Select the comrect option

N del(X — AI) =0
O T
0§
S del(A — AI) #0

/g

del(A+ AI) =0

O
/?

del(A — AI) =0
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MTH401:Quiz No. 2 Quiz Start Time: 06:58 PM. |

Question # 2 of 10 ( Start time: 06:55:09 PM, 28 August 2020 )

IfK = { 11} is an eigenvector of the given matrix A = [ :} 'il:| then AK 1s

Select the correct option

% 1K
<
; S
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MTH401:Quiz No. 2 Quiz Start Time: 06:58 PM, 28

Question # 3 of 10 ( Start time: 06:59:29 PM. 28 August 2020 )

If
0 21
1 5 3
and B = 3 5 6 }
[ 2 4 T] lr - - -
Select the cormrect option

3 =3

m 2x3

S e —

A

2hsy

Wy,

Mone of them
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MTH401:Quiz No. 2

Question # 4 of 10 { Start time: 06:59:45 PM. 28 August 2020 )

This equation

det(A — AI)
is known as of the matrix A.
Select the comrect option
Linear equation \
Qs -~
Algebraic equation Qv
Characteristic equatiurQ-\ \
M
k4
All of these
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MTH401:Quiz No. 2 Quiz Start Time: 06:!

Question # 8 of 10 ( Start time: 07:01:03 PM, 28 August 2020 )

If

Select the correct option m

~ .
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A
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MTH401:Quiz No. 2 Quiz Start Time: 06:58 |

Question # 10 of 10 ( Start time: 07:01:31 PM, 28 August 2020 )

The equation form of non - homogeneous system of differential equationis

-2 4 T 1 —4
XI = + Eit + t
Select the comrect option

- % X' = 2z +4y+e — 4t

L4 \Q X' =3z — 4y + 11t

| §
\

X'=-2¢4dy+e — 4
X'=3z +4y+ 11t

. —
t X' =2z +4y+e — 4t

o X' =3z — 4y + 11t
X' =2z +4y— & — 4

o X' =3z — 4y — 11t

5t account
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MTH401:Quiz No. 2 Quiz Star

Question # 1 of 10 { Start time: 03:02:53 PM. 29 August 2020 )

A = \eft] \matrix
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2 Whfill ‘or
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MTH401:Guiz No. 2 Quiz Start Time: 03:0

Question # 3 of 10 { Start time: 03:03:42 PM. 29 August 2020 )
1 he matrix 1orm of non - Romogeneons system ol differential equationis

X'=-3z+4y — 0z
X' =6z —y
X' =10z — 4y + 3z

Select the comrect option m

\ -3 -9 -4 T
O O
< X'=|6 0 -1y
S
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[ -3 4 = —9]
O
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MTH401:Quiz No. 2

Question # 4 of 10 { Start time: 03:04:13 PM. 29 August 2020 )
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Quiz Start T

The eigenvalues of matrix

Select the comect option
>
<

AM=5M=5
Y

M=3 =T
o .

AM=5,A=-5
O

Al=-5,A=-5

O
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MTH401:Quiz No. 2 Quiz Start Time: 03:02

Question # 5 of 10 ( Start time: 03:04:35 PM, 29 August 2020 )

The equation form of non - homogeneous system of differential equationis

T

Select the comect option m

X'= 2z +4y+e — 4t
X' =3z 4y + 11¢

N
<L
s' X'=-2z—dy+e — 4
O \ X' =3z + 4y + 11¢
\

T

X' =2 +4y+e — 4t

@) X' =3z — 4y + 11t
X' =2z +4y— & — 4
o X' =3z — 4y — 11t
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MTH401:Quiz No_ 2 Quiz Stal

Question # 7 of 10 ( Start time: 03:05:20 PM. 29 August 2020 )

This equation
det(A — A

is known as of the matrix A.

Select the correct option

Linear equation

N
O G
P~

Algebraic equation

© <

A,
" v
Characteristic equation Q\
=
)
All of these \
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MTH401:Quiz No. 2 Quiz Start Time: 03:(

Question # & of 10 ( Start time: 03:05:31 PM. 29 August 2020 )

d
§=—2x+4y+et—4t

§=31‘—4y+1]t

Select the comrect option m

>
$ -0 0L
Q" 3 4|y 0 11
o A X’=[_2 4}‘T+r*+4}
Q: \ ) P _4‘_y 1 - 4
ol L
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MTH401:Quiz No_ 2 Quiz Start Time: 03:(

Question # 9 of 10 { Start time: 03:06:02 PM. 29 August 2020 )

A = \eft] 'matrix
1 Whfill Yer
2 Vil her

e i Lelmabd1l T8 B VBT Vn mdeiae 1 TRET Lme TN REN Lae b A m#eiar beiabdTl 1A= A . D o
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MTH401:Quiz No. 2

Question # 10 of 10 ( Start time: 03:06:47 PM. 29 August 2020)

Quiz Start Time: 03
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